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circular buffer

© g_wia number of 10-bit ADC samples averaged
7 over the data stream. maximum size = 64 (2°6)

void setup() {

for (int 170; 1 < g_width; i++) TeadADC(R0): // initialize buffer (opt.) §;~
}

© sensoxPin){
window [g_width]={0}; // window into ADC data scxe
: /7 index pointer into the buffx

// sum of the readings in the buffer

Read (sensorPin); // curzemt reading
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// subtract out oldest reading and

2 uuv— = 2ouwn+ Al AD // replace with current reading
/1 update °
windowlindex] = & 1; /7 update buffer

index++; /7 move pointer
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You could also use a shift+ operm'or in place of
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Alternative float version: re
float(g_width);

httpss Wtorial/pointers/

vint B o VQ 7 s) .
& ‘ EEL—K%MW //clf\lzi'jre ¢ c(aclw/a\jmm 5§

Daoto
yvar 25
Ponters or Dereference Operatod ¥

L. L - * WCDO bla is equal o the value pointed o by foo

o C/D\.)b/d $L0v+ \(é_

Summaory

&is the address-of operator, and cav be read simply as "address of”
*is the dereference operator, and can be read as "value pointed +o by’
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F a poiwter +o directly refer +o the value that it points +o, a pointer has different properties when it points +o a char +han
wmv. it poms o an int or 4 float. Owce dercferenced, the +ype needs +o be known. And for that, the declaration of a poiwrter needs +o include
+he data +ype the pointer is going +o point +o.

The declaration of pointers follows +his syntax:

+ype * name;

Where +ype is the data type pointed +o by the poiuter. This +ype is wot +he type of the pointer itself, but the type of the data the pointer
polnts to. For example:

uintB_t * foo;
foo points +o a data type uint®_t
The size in memory of a pointer depends on +he platform where +he program runs.

That the asterisk (*) used when declaring a poivter only means +hat it is a pointer (it is part of i+s +ype compound specifier), and should not
Ve confused with the dereference operator scen a bit earlier, but which is also written with an asterisk (*). They are simply +wo different
Hhings represewted with +he same sign.

To see how confusing +his can get, check-out Lecture 3 "Software
Programming in C++: Tutroducition (Wtps:/[www.arxterra.com/c-introduction/)
oud specifically cdnapter 11 "What is _SFR_Byte(sfr)?"

_SFR_BYTE(sfr) *(volatile uiwt®_t * uint1G_t &(sfr))
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